Worksheet -14
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Subject: - Mathematics Class: - VI Teacher: - Ms. Neeru
Class & Sec: Roll No. Date:19.05.2020
Muwttrblicaim® of Fractions
3 Steps | @ N XN
@ bDxbp
S  simplest frroms (Cuakiting )
@ Whole mo- X Faceetroe -
IXY = Ixy -Ja
> IXs "5
HXx3 = yYxz = J2
5% 1 I3
@ Whole Dumbes X Mixed Fracticw.
D Xa = 3 X 19 = 3)&/275_‘1_‘:8L
L 1 Ix7 7 i
Farachior X Fyachiom
=X a2 = 2x 8 = 2x8
— . = — 2 /
3 3 S T 96
A 9 5
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t X& = 3x3 = 9
Y 4 YRy 1 £
- 2
UL L of a4 = Ix2m=pa2Y4y=24=)2=j2
2 s 25 ,Z) T
FMC‘hb'b X Mrxed Fracfio»
z x5l = l2x21 = 21
5 -y Y )6
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e G = _LX6E s 6.
‘wo#“f)" 1x5 35
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5. Hnd:

| 2
(a) 5 of (1) 24 (ii) 46 (b) -3' of (i) I8 (i) 27

4
() ':-of (i) 16 (i) 36 (d) 5 of (i) 20 (i1) 35

6. Multiply and express as a mixed fraction :

1 3 |
Ix5— Sx6— ) TX2—
(a) 5 (b) X 3 (c) 3
(d) 4x6% (e) 31><6 () 3g><8
3 4 5
1 8 e al 5 . 5 U,
e 2= 4-— Lo et =
7. Fnd (a) 5 of (1) 2 (11) 9 (b) 3 of (1) 36 (11) 93
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Question 5

Find:

Answer 5:

Question 6

Answer 6:
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Question 7
Find:

Answer 7:
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ExERcISE 2.3

1. Find:
o Lo 1.3 4
(1) 7 © (a) 1 (b) 5 (c) 3
T 3
(1) 7 0 () 9 (b) 5 (c) 10

IR /A THEMATICS
2. Multiply and reduce to lowest form (if possible) :
2 .2 3.6 9 3
N 2 a2 & i 19,19 f F O
(i) 3><23 W >3 i) <X v %3
Lis 13 41
¥ 3%3 ™ 2710 Sl

3. Forthe fractions given below :
(a) Multiply and reduce the product to lowest form (if possible)

(b) Tell whether the fraction obtained is proper or improper.

(c) If the fraction obtained is improper then convert it into a mixed fraction.

7 | 2.7 3 il 5 3
i) =%5-— i) 6=X— i) =X5-= iv) —=X2=
W 327 W 9%%3 w35 W 5%

2 4 3 4 3

3=x— ) 2=%X3 i) 3—x=
v) 575 (v1) 5 (vii) 775

4. Whichis greater :

2.3 3.5 1 6 2 3
(1) 70 4 orso 8 (i) 2o7 or 307



(Chapter — 2) (Fractions and Decimals)
(Class — VII)

Exercise - 2.3

Question 1
Find:

Answer 1:

Question 2

Multiply and reduce to lowest form (if possible):

Answer 2:
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Multiply the following fractions:

Answer 3:
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Question 4

Which is greater?

Answer 4:




